BHEAE A B :20214E03 06 H (1)

1 A E LR

i H

:2021.3.7 7:41

v R 1.0 RN T HEME36.0 01360 LA —/: OUT1 3 4 9
IN10 12 13 15 17 18
B A YT AaAT v b oiX— 3
il =—=2  :0UT IN ZINNE HMTN SN AEFSOA
NEN PE ST v ko
EGL | N K4 OUT IN |GROSS| HDCP | NET | crosshf: % BT | BInFE K4 OUT IN | GROSS| HDCP | NET |crosshsif: e

1R B 40 42 82/ 12.0 | 70.0 51/ E B 46 47 93/ 16.8 | 76.2
2 A 36 37 73] 2.4 [70.6 52 | &R B — 41 39 80| 3.6 |76.4
3| Fosl 45 40 85| 14.4 | 70.6 53K B 39 41 80| 3.6 |76.4
4| FB SnBH 44 42 86| 14.4 | 71.6 54 AR fik 49 43 92| 15.6 | 76.4
578K F= 43 43 86| 14.4 | 71.6 55| Z2iE = 47 42 89/ 12.0 |77.0
6|FFH — 40 38 78| 6.0 |72.0 56 |UTHE A5 46 48 94| 16.8 | 77.2
e E=-YN 41 43 84/12.0 |72.0 5771 Z=AH 47 47 94| 16.8 | 77.2
8|S HK— 39 38 77 4.8 [72.2 58| FEE 46 47 93| 15.6 | 77.4
IR 40 42 82| 9.6 |72.4 59/26H =% 50 49 99/21.6 | 77.4
10|#745 1& 43 44 87/ 14.4 |72.6 60|53 &k 43 43 86| 8.4 |77.6
11 e 521 39 42 81| 8.4 |72.6 61|FepkE E& 51 47 98/20.4 | 77.6
12 55 H F— 47 46 93/20.4 | 72.6 62 |EBEE WG 53 44 97/19.2 |77.8
13 s A\ 48 44 92/19.2 |72.8 63| 7Tk B 43 46 89/10.8 | 78.2
1485k HE T 43 43 86| 13.2 |72.8 64 8- BuE 51 47 98/19.2 |78.8
15|k 1 2258 42 43 85 12.0 | 73.0 65| H 7K FEHET 46 52 98/ 19.2 178.8
16 HF =8 38 41 79| 6.0 |73.0 66 |FEIE MK 53 44 97/18.0 |79.0
7|0 2 52 44 96| 22.8 | 73.2 67| )1 BH 49 48 97/18.0 79.0
18|35 #LE 51 44 95/ 21.6 |73.4 68|} B2 53 47| 100/20.4 | 79.6
19/ FHR 49 52| 101]/27.6 |73.4 69| EHF Hi 55 50/ 105|25.2 | 79.8
20| HAS 7§ 41 41 82| 8.4 /73.6 70/ BA fdt— 40 47 87 7.2 |79.8
21 Pk & 43 39 82| 8.4 |73.6 T1HAR KM 49 43 92/ 12.0 |80.0
22|8F) B 43 45 88(14.4 | 73.6 APNEE 56 47| 103]22.8 |80.2
23| HH pafE 39 43 82| 8.4 /73.6 73BN NET- 58 56/ 114]/33.6 [80.4
24| KN R 46 48 94/20.4 | 73.6 T4 | PR EHL 58 47| 105/ 24.0 |81.0
25|HTH & 47 39 86/12.0 | 74.0 75 B T 50 47 97| 15.6 |81.4
26| AR 1EAD 45 41 86| 12.0 | 74.0 76|/ HER 64 54/ 118/36.0 |82.0
27 |Gk Ik 44 42 86| 12.0 | 74.0 i =8N 51 47 98| 15.6 |82.4
28 | ] FH ek 41 39 80| 6.0 |74.0 8|5k U= 49 49 98] 15.6 |82.4
29| PR ELIA 41 45 86| 12.0 | 74.0 198K FHH 52 47 99| 13.2 | 85.8
30| MR K H 45 46 91]16.8 | 74.2 80|54 Efe+ 63 58| 121]32.4 |88.6
31| &R = 47 38 85|/ 10.8 | 74.2
326 H)I B 43 42 85(10.8 | 74.2
33!l 1E 42 42 84| 9.6 [74.4
34|/ ik— 42 46 88/13.2 | 74.8
35/ =A% 46 47 93]/ 18.0 | 75.0
36| &+ N1 43 43 86| 10.8 | 75.2
37210 45 40 85| 9.6 |75.4
38|k k% 46 45 91/ 15.6 | 75.4
39/ KL B2 36 42 78] 2.4 |75.6
40 iF 41 43 84| 8.4 |75.6
41 4)1] 1 47 43 90| 14.4 | 75.6
42|85 K A0 45 45 90| 14.4 | 75.6
43\ B 41 42 83| 7.2 |75.8
44| TRE el 44 44 88/ 12.0 | 76.0
45|15 1B 42 46 88| 12.0 |76.0
46 | KK EL 44 43 87/ 10.8 | 76.2
47 IR Ek 45 36 81| 4.8 |76.2
48|% #Ad 42 45 87/10.8 | 76.2
498 1 & 43 44 87/ 10.8 | 76.2
50| 77 g FLH 51 48 99|22.8 | 76.2
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